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6-4 Models for Multiplying Decimals

Example Multiply 1.0 x 0.3 10
Use an area model and hundredths grid gl Ocunt the hundrecths
to find the product. find the product.
Each factor becomes a side length of 10%03=03
arectangle.
Multiply 1.6 X 0.6 1.6
Use an area model and a Count the

. - @ redihs

hundredths grid to find the product. 5 :ﬁ'ﬁ&?& o
Because one factor is greater than 1, find the praduct.
you will need to use 2 hundredths 1.6 % 0.6 = 0.96
grids (for a total of 2 units).

Shade in the hundredths grids to solve the following problems.

[ 4x0I2

Answer:
2. 06 x 05

Answer:
3. 12x05b

Answer:




4 1I'x 04

Answer:
5 05x08
Answer:
. 08 xl6
Answer:
7. 5x 030
Answer:

8. Explain why multiplying 374 x Ol gives a product that is less Than 374




